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Note: (i) Attempt any five questions.

(ii) All questions carry equal marks.
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HTNDUSTANI MUSIC (VOCAL) - THEORY

1 Frqfrfua C t fu€t fiq q-{ *f}iq ft;qfi frftsd'

(i) Td (ii)

(iii) dl?I (iv)

Write short notes on any three of the following:

(i) Murki (ii)

( iii) Tala (iv)

IIIftF

UFI

Ga ma ka

Grama
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<rrt & sqq q-fi * sTrc ffir Htrfi da ffio qqflr{d I

What do you understand by time cycle of Ragas? Explain in detail'

'rilta nqros'.iu fi 1Wo qrsr dBut
Explain 'Sangeet Ratnakar'granth in detail'

orct qr6g6q& ffi uo {r,Tt 6-d 
qra fr E<frfr * sirffcE dr artiisFea ftRrdt

6

Write down the notation of Drut Khyal of any one Raga prescribed in your

syllabus with two Alaps and two Tanas. r
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5 ftlq {rit 61qdtlrq 6-{ si.b 3flf6, ffit-d dPlT qo-s frfu-dl 2x3=6
(6) BTc,dqqq,qt
(s) gtlrrcqeIfr
(rr) B sr rr q', q fr
By Identifying the followlng Ragas, write down their Aroha, Avaroha and Pakad.

(a) Sa Ua, tia Pa Dha Pa, Ma Re

(b) Sa Re Ga Ma Pa Dha Ni

(c) Ni Sa Ga Ma. Pa Ni

ftrftfua fr e ffi eo $?ra-s orfiat qBuo fr*,
(i) t. psr*nqi6-{qftda
(ii) sftTrd 3r6ilfrqT d
(iii) sfind 3rqd 6-tq d
Write down the life sketch of any one Musician from the following.

(i) Pt. Krishna Rao Shanker Pandit

(ii) Ustad Alladiya Khan

(iii) Ustad Abdul Karim Khan
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7 R6Rriidf,ffidffi'
(6) ditdcrfrfrrdd'qbAq6 dt

1q1 ffi{FTddrfr tt
(rT) sqr6 C Va lsti d Tisr ---------- d& dt

elr

(B) ardr ild C ----------- qrnE drfr dt
(a) +{d {rrr -------------- Qnd + rss tt

Fill in the blanks:
(a) Sangeet Parijata Epic is written by

(b) The Jaati of Raga Bhimpalasi is -------------.
(c) The number of Shudha Swaras is --------------- in a Saptak.

(d) Ustad Faiyaz Khan was a famous classical

(e) There are --------- Matras in Dadra Tala.

(f) Bhairav raga is originated from --------- Thaat.
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